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CBT Sample assessment model answers

Financial Accounts Preparation (FAPR)

Sample assessment 1

Task 1  (15 marks)
[image: image2.png](a) Using only the figures supplied, find the missing discounts figure by preparing the purchases ledger

‘control account for the year ended 31 March 20X7.

Purchases ledger control account

vi[vl[v][¥]

v

[Balance cia. 14656 |Balance big 12345q]
[Discounts received 2900 [Purchases daybook 149348[q]
[Bank 145137 al
[«

162603] 162603/

(b) Using only the figures supplied, find the closing balance on the VAT control account for the year ended
31 March 20X7.
Note: The business is not charged VAT on s rent.

VAT control

vi[vi[v][v][v][¥]

&1 (& (AT TAT[&]

>

[Purchases dayoook 24408|Balance bid 1806
[General expenses 1502[Sales daybook 1620
JBank 5769[Cash sales 840
[Sales retums daybook 32|
[Barance da 2055

X T

7y

(5 marks)

8 marks)





Task 1 (continued) 

[image: image3.png](c) Assuming there are no year-end adjustments, what will be the opening bank account balance in the
general ledger as at 1 April 20X7? 2 marks)

e 1450 [creait %]





Task 2  (15 marks)
[image: image4.png](a) Show whether the following is TRUE or FALSE. (1 mark)
Gross profit
Gross sales margin percentage may be calculated as:  ———————  x100%
Sales

True.

False





[image: image5.png](b) Using this information, complete the following tasks. (@ marks)

(i) Calculate the cost of goods sold for the year ended 31 March 20X7.

e [see75

(i) Calculate the value of closing inventory.

e [e7e5

You compare this figure with the results of a physical inventory count as atthe year end.
The total physical inventory value is £350 lower than your calculation above.

(i) Which ONE of the following could explain this?

Some equipment used in the office was stolen during the year.

There were unpaid sales invoices atthe year end.

Ahigh value item was included twice in the count.

The trader has made drawings of goods during the year.

(iv) Update the value of closing inventory to account for the difference above.

e [sa15





Task 2  (continued)

[image: image6.png](b) Using this information, complete the following tasks. (@ marks)

(i) Calculate the cost of goods sold for the year ended 31 March 20X7.

e [see75

(i) Calculate the value of closing inventory.

e [e7e5

You compare this figure with the results of a physical inventory count as atthe year end.
The total physical inventory value is £350 lower than your calculation above.

(i) Which ONE of the following could explain this?

Some equipment used in the office was stolen during the year.

There were unpaid sales invoices atthe year end.

Ahigh value item was included twice in the count.

The trader has made drawings of goods during the year.

(iv) Update the value of closing inventory to account for the difference above.

e [sa15





Task 2  (continued)

[image: image7.png]The trader has a policy of allowing customers to settle their accounts one month after the sale is made.

(c) Which of the following i most likely to be the total on the sales ledger at the end of the financial year? (2 marks)

cosi0

£16.225

£64,900

You are now working on the final accounts of another client.

Your manager is called away unexpectedly. He asks you undertake a particular task with a deadiine during
his absence. You know you have not received sufficienttraining to do this work.

() What should you do? Choose ONE. (3 marks)

Do the job to the best of your ability and submitthe work to the client on time.

Askif you may have supportfrom elsewhere in the organisation

Ask a family member who is a qualified accountant to do the work for you

Advise the client that the deadine will be missed.





Task 3  (18 marks)
[image: image8.png](a) Complete the capital account as at 1 January 20X7, showing clearly the balance carried down.

[Balance cia.

13000 [Bank

13000

13000

13000

[ATTATTATTAT





[image: image9.png](b) Using this information, complete the following tasks: (14 marks)

(i) Calculate the value of trade receivables that will appear in the statement of financial position.

£ Rasso

(il Prepare the statement of financial position for Ony Trading as at 31 March 20X7.
Do NOT use brackets, minus signs or dashes.





Task 3  (continued)
[image: image10.png]Onyx Trading
Statement of financial position as at 31 March 20X7
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Task 3  (continued)
[image: image11.png]Closing capital

Capital
Opening capital 22200)
[Ada: Profitfor the year 42495|
[Less: Drawings. 20000)

4469|





[image: image12.png](c) Complete the following: (2 marks)

Drawings for the year will be ransferred as a [debit [l tothe capital account n the generalledger.

The opening balance inthe capital account on 1 April 20X will be: £ [13695





Task 4  (16 marks)
[image: image13.png](a) Complete the following statements:

() Which ONE of the list below is a benefit of running a business as a sole trader?

Unlimited lizbilty.

Limited liabilty.

Complete control over business decisions

No requirementto prepare annual accounts by a certain date.

(i) Complete the sentence:

A private limited company is owned by its

[eharenoiders oAl

(10 marks)




Task 4  (continued)
[image: image14.png](i) Which of the following businesses have owners with imited liabilty forits debts?

1. The Joe and Josephine Bloggs Partnership

2. Joe and Josephine Bloggs LLP
3. Joe Bloggs plc

All of them

3 only

2and3

1and2

(i) Complete the followin

To be a charity an organisation must satisfy the definition of a charity found in the

s purpose must be for the beneft of the.

|

[Charities Act %]





[image: image15.png](b) Which ONE of the items below prescribes the format of final accounts for an organisation adopting FRS? (2 marks)

1As 1





Task 4  (continued)

[image: image16.png](c)  Link the boxes to match the following users of final accounts with the most ikely reason for their interest.
Make each selection by clicking on a box in the left column and then on one in the right colum.
You can remove aline by clicking onit. (4 marks)

user Reason

Assessment of the security of any loan

Management Decision making relating to their personal
investment
‘Shareholders ‘To compare information from other organisations
‘operating within the same business sector

To assess future performance of the business




 
Task 5  (15 marks)
[image: image17.png](a) Which ONE of the following should be included in a partnership agreement? (2 marks)

The partnership appropriation account

Salaries and wages to be paidto all employees.

The rate at which interest s to be allowed on capital.





[image: image18.png](b) Prepare the goodwill account for the year ended 31 March 20X7, showing clearly the individual
entries for the introduction and elimination of goodwill. (5 marks)

Goodwill account

[Caital - Riva. 26000 |Capital - Sam 36400)

[Capital - 5am 20800 [Capital — Terry 5600
{Capital —Tery 5200
52000 52000]
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Task 5  (continued)
[image: image19.png](c) Prepare the appropriation account for the partnership for the year ended 31 December 20X7,
‘and complete the statement below. 8 marks)

You MUST enter zeros where appropriate in order to obtain full marks.
Use aminus sign for deductions or where there is a loss to be distributed.

Partnership appropriation account for the year ended 31 December 20X7

Proft for appropriation 80000
Salan — Asma 23400
Enter any deductions as

Salan—Ben E

il 16800 negative
Sales commission — Asma 4500 £g-999
Sales commission — Ben 8300
Residual proft available for distrbution 27000
‘Share of residual profit or loss:
Share of profi o 10ss — Asma 16200
Share of proft or 055 — Ben 10800
Total residual proft o loss distributed 27000

On 3rd January 20X8, Ben takes some goods for personl use.
His current account willbe  [detited JlLg] wih their value.





Task 6  (21 marks)
[image: image20.png]() Prepare the statement of profit or loss for the Onyx Partnership for the year ended 31 March 20X7.
Ifnecessary, use aminus sign to indicate ONLY the following:
« the deduction of an account balance used to make up Cost of goods sold
« aloss for the year.

(14 marks)




[image: image21.png]Onyx Partnership
Statement of profit or loss for the year ended 31 March 20X7

Sales revenue 255430)
[Opening imventory 24500

[Purchases 153670

[Closing inventory 25100

Costof goods sold 153070
Gross proft 102410
Add:

[Allowance for doubfful debts adjustment n 00|
Less:

[Depreciation charges 9700

[Offce expenses 31630

[Payroll expenses 16950

[Seling expenses 1042

[Coan inerest paid 168

Total expenses 68990
Proft/loss for the year 34020





Task 6  (continued) 
[image: image22.png](b) Calculate Jon's share of the profit or loss for the year and his final current account balance. (4 marks)
Use aminus sign to indicate ONLY aloss for the year, f necessary.

Jon—share of profit or loss. 17010

Jon—final current account balance 17790

Where will the current account balance for Jon appear on the statement of financial position for Onyx?
Choose ONE:

Within the ‘Financed by section.

As a current iabily

His current account will not appear on the statement of financial position





Task 6  (continued) 
[image: image23.png]Preparation of the final accounts for a limited company at ts year end requires more detailed reporting than
for a sole trader or partnership.

(c) Which of the following statements are TRUE for a limited company? (3 marks)
1. Ataxation charge should be shown in the statement of proft or loss.

2. Afull analysis of non-current assets must appear on the face of the statement of financial position
3. Notes to the financial statements are available to third parties.

1and2

2and3

1and3

All of them
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